Solving addition and subtraction problems (16 cards)
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Mike has 15 marbles. He
wins 17 more marbles.

How many marbles does
Mike have now ?
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One bag holds 48 sweets
and another bag contains 34
sweets. How many sweets
are there altogether?
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Ali had 25 balloons. A gust of
wind blew 9 of them away.

How many balloons does Ali
have left ?
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In an end of year test Cal
scored 15 more marks than
his friend Becky. If Becky
scored 63 marks what was
Cal’s score?
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With three darts Dom
scores 19, 7 and double
20.

What was his total score ?
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There are 31 children in
class 7B. If 17 of them are
girls how many boys are
there in the class ?
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A coach can hold 52
passengers. If there are 29
people seated, how many
empty seats will there be?
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Emma thinks of a number
and adds 25 to it. She gets
an answer of 77.

What was the number she
thought of ?
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Charlie thinks of a number
and takes away 17. He gets
an answer of 55.

What was the number he

/ Card 1 0\
=)
/

Kaz wins 72 points in a
game. His friend Bill scores
only 36.

How many points does Bill

need to catch up
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A small library has 68 books
at the start of the day. During
the day 37 books are
returned to the library.

How many books are in the
library at the end of the day?
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/Emily delivers newspapers.
On Monday she delivers 23,
Tuesday she delivers 29
and on Wednesday she
delivers 33.

How many papers has

thought of
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A small aeroplane has 159
seats. 76 people get on the
plane and sit down.

How many seats are still
empty?
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/Chris scores 116 marks in a \
test. Sal scores 67 marks in
the same test.

What is the difference in
their scores?
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Jess throws three darts. She
scores double 8 with the
first, double 5 with the
second and 17 with the third.

What is her total score ?
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In a school there are 146
pupils in Year 7.

If 79 of the pupils are boys,
how many girls are there in
year 77
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